XMVR VA
EAREORREE HANSAVFLEX

| _§:3

#0O1 BSPAIIREL, B sw

BHERX 1  BHELHR i

¥DO2 KAEISRL, B AT ‘ . 2
[

BHER 2 24°R#
gges EDREOREERE
3 .| HERBEIREETTHRRIMEER)

[T T D
#3
BARE, EA. ENARAAFN TERENREECS DERDEENEARL.
1 &

LR 3] THED B
XMVR NW 04 HL VA L 6 PN 315 G 1/4"-19 M12x1.5 14,5 29 22,0 19
XMVRNW 04 HL1/2VA L 6 PN 315 G1/2"-14 M12x1.5 20,0 36 29,0 27
XMVR NW 06 HL VA L 8 PN 315 G 1/4"-19 M14x1.5 14,5 29 22,0 19
XMVRNW 06 HL 1/2VA L 8 PN 315 G1/2"-14 M14x1.5 20,0 36 29,0 27
XMVR NW 08 HL VA L 10 PN 315 G 1/4"-19 M16x 1.5 14,5 30 23,0 19
XMVRNW 08 HL 1/2VA L 10 PN 315 G1/2"-14 M16x 1.5 20,0 37 30,0 27
XMVR NW 10 HL VA L 12 PN 315 G 1/4"-19 M18x1.5 14,5 30 23,0 19
XMVRNW10HL 1/2VA L 12 PN 315 G1/2"-14 M18x1.5 20,0 37 30,0 27
XMVR NW 03 HS VA S 6 PN 630 G1/2"-14 M14x1.5 20,0 38 31,0 27
XMVR NW 04 HS VA S 8 PN 630 G1/2"-14 M16x1.5 20,0 38 31,0 27
XMVR NW 06 HS VA S 10 PN 630 G 1/2"-14 M18x 1.5 20,0 38 30,5 27
XMVR NW 08 HS VA S 12 PN 630 G1/2"-14 M20x1.5 20,0 38 30,5 27
ZHRILL=3FER L=B S=E - PN=HIEEN PB=8BAIKEDL - 0=EHER

RS
XMVR EOREORREE, W
MVR VA EAOFREOEREE THWN

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
25.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



